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97.7 - -0.2 97.8 - -0.3 200 64
97.8 - 0.1 98.1 - 0.4 200 74
99.0 - 1.2 100. 2 - 2.1 200 84
97.3 - -1.7 99. 2 - -1.0 200 94
96. 4 - -0.9 97.9 - -1.4 20104
96. 2 - -0.3 97.1 - -0.8 201 14
96. 1 - -0.1 96.5 - -0.7 20124
96. 1 - 0.0 96.5 - 0.0 201 34
99.0 - 3.0 99. 2 - 2.8 20144
100.0 - 1.0 100. 0 - 0.8 20154
99.8 - -0.2 99.7 B -0.3 20164
100.5 - 0.7 100. 7 B 1.0 20174
101. 4 - 0.9 102. 2 B 1.5 20184
100. 4 0.3 0.8 99.9 -0.2 0.6 201 741H
100. 2 -0.2 0.7 100.0 0.1 0.8 2 H
100. 3 0.1 0.9 100. 0 0.1 0.6 3 H
100. 7 0.4 0.6 100. 6 0.6 0.9 4 A
100. 6 -0.1 0.6 101.0 0.4 1.3 5H
100. 1 -0.5 0.4 100. 8 -0.3 1.1 6 H
100. 1 0.0 0.6 100. 5 -0.3 0.9 7H
100. 3 0.1 0.7 100. 8 0.3 1.2 8 H
100. 3 0.0 0.5 100.9 0.0 1.2 9H
100. 7 0.4 0.3 100.9 0.1 0.8 10AH
101.1 0.4 0.7 101.5 0.6 1.2 11H
101.3 0.2 1.3 101. 8 0.2 1.7 12H
101.6 0.3 1.2 102.0 0.2 2.1 201841H
101. 8 0.2 1.6 102.0 0.0 2.0 2 H
101.2 -0.6 0.9 101.9 -0.1 1.9 3 H
101.0 -0.1 0.4 101.8 -0.1 1.2 4 A
100.9 -0.1 0.3 102. 1 0.3 1.1 5H
100. 8 -0.1 0.7 101.9 -0.2 1.2 6 H
101.0 0.2 0.9 102.0 0.0 1.5 7H
101.8 0.7 1.5 102.7 0.7 1.9 8 H
101.6 -0.2 1.3 102.5 -0.2 1.6 9H
101.9 0.3 1.2 102.9 0.3 1.9 10H
101.7 -0.1 0.6 102.5 -0.3 1.0 11H
101.3 -0.4 0.0 102. 2 -0.3 0.4 12H
101.0 -0.3 -0.6 102.0 -0.1 0.1 2019414
100.9 0.0 -0.8 101.9 -0.2 -0.1 2 H
100.9 -0.1 -0.3 102.5 0.6 0.6 3 H
101. 4 0.5 0.4 102.9 0.3 1.1 4 A
101. 3 -0.1 0.4 102.9 0.1 0.8 5H
100. 8 -0.5 0.0 102. 4 -0.6 0.4 6 H
100. 9 0.1 -0.1 102. 3 -0.1 0.3 7H
101. 2 0.2 -0.6 102. 8 0.5 0.2 8 H
101. 3 0.1 -0.3 102. 7 -0.1 0.2 9H
101.7 0.4 -0.1 103. 3 0.6 0.4 10AH
101.9 0.1 0.1 103. 2 0.0 0.7 11AH

12H




F6 fEIHHEEMBE FH/ITME

- AT H | R

B H 8 i o] R y ;ﬁt

114 | 104 | % %
5 D bk |EWNE, Bk, HJRRRK (BEHE, SRR OEEERR— Db o), 2AD (BkgAD), Tt eh) 148 2,290 2,209 3.7 3.1
5 A bk |[EWNE, Rk, HRRRK (BEH, SR OBEERFE—DH0), A (BkgAD), b A YEERS 148 2,300 2,192 4.9 5.7
5 S 873 1kg 439 438 0.2 120
By 7 WHEXAT, 1T N (T7gAD) 11 171 171 0.0 6.9
NR B [, A (kg AD) 148 284 284] 0.0 9.2
v I BT T T e Uy =), SEETER T g, Y
N U bl & 100g 316 311 1.6 8.2
A » THHD, L 100g 174 171 18] 279
EE " [EPE M, m—A 100g 919 916 0.3 5.3
&K " NT (BRER) 100g 263 269 -2.2| 114
= " TuA7—, bbA 100g 149 1491 0.0 4.9
EE . A7, JEEHTEYD, MAHRAY (1, 000mLAY) 1A 220 2201 0.0 6.3
I — 7 A b |[Fr—ra—2ak, 400600 1 176 166 6.0 6.7
T 9i qu%[\fgég/iyéii%?ﬁiﬁ%ﬂm’ PARRAE, (IIE] TMS52g~LL76gAI ), TMS52g~L70gAIi | X 189 299 214 37 35
EIO N A ED kg 1,150  1,068] 77| 27.5
1 & HhE 1kg 578 667| -13.3] -18.2
[URRE S /NANE 1kg 259 357| -27.5] -15.9
72 £ R & |FREREZR 1kg 254 267 -4.9] 104
Fo~ kb 1kg 807 910] -11.3 4.4
=) & AR, I 1kg 357 357 0.0 20.6
mooB o [EEBY 1kg 1,675 1,734 -3.4] -6.8
U] T [SL, 1H200~400¢ 1kg 504 - - 4.3
2 T TV RE (RS R L 2 BR<) 1kg 311 301 33| -5.2
& A M [Fv/—TGer) il RUEAL (1, 000gAY) 14 289 289] 0.0 -3.7
el RN BER DT, RUEHRAD (3608 AD) 1A 344 3441 0.0l -2.0
rooo— % [wbZva—kr—F, 1 (70~120g) 114 362 362 0.0 2.0
T A AT Y — N (NR=FTARZ)—L, By AV (110mLAD) 11 310 310l 0.0 13.1
Eis & FHIRVI U EMEICB DR/ BI/VIY, FHOWNF Y, I 1 530 530 0.0 0.0
T L (7 Y ) [IZE0FLEEMEZERS), 8~10f@AD, I 137 735 735 0.0]  28.0
7S A =S 100g 232 2211 5.0 -3.7
b b T |BA, BRL, I 100g 195 195 0.0 0.5
* OB [RIRECEE, XYMV AD (525mLAD) IN 91 91 0.0 5.8
v — b ¥, 1A (350mLAY), 615D 137 1,239  1,239] 0.0] -1.0
AL —=FA X (S ) 1m 763 763 0.0] 5.2
BE O &) hne, i 1AHT 920 920| 0.0 2.8
v =L (4 &) |EERICBTRE =, %A, FR(500mLAD) 1R 634 634 0.0 1.3

RT3, AR T

ERERWIE, B, PR TRIOSERIEZTT > TRY, £ ST RO ZFEL TVET,
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moA | A 4E
RO INTEATAS
i} H & i) Bz 54 [d A Ltk
114 10H % %
% (R ¥ |REsE 1373;):]2' 3,336 3,342 —0.2|  -72
om
;T ] HATH, G50 X580, JEHHTED 18L 1,795 1,808 -0.7 0.8
_ | BE e R TR LAY, w5 — N, BEHAL CEREFIE D) B E2. 8kW, BEFES. 6 . . ~
VTR TE T T YW, GBI — R 6. T~T. 2, 7L — F IR X, FRei e X TR [[192.150 199,905 =39 9.2
HEET T WwITUT, B, 3EN, 3S0WE 1R 1,016 1,208 -15.9 -14.6
BE W B Al BB, - BR - B BCHEHE R, IR, BEORR XM, 28AD (720~810g AV) 1kg 397 397 0.0 39.3
—— — ” = Py Ty — =
A 2Ty s R TN— /«7\; (FEM) 7 =4, Ti100% ) IETHR95% L. E-RIT L ABH ), (FAXITW64 1A 3430 3432 0.0 s
~70cm, ki
I N H J@-&;ﬁ Fh 3ot B LR, (VX0 M, Eilbsh 14z 6,760 6,760 0.0 1.9
SN 4 SNUTA, ()R, UR)ARE L, UEORGEIRVAT, (H1X)23~24cm, F#kdh 12 10,780 10,780 0.0 1.9
KU 7 Al [REEIERSNG, FAD (100mL X 104K AD) 154 1,067 1,067 0.0 1.9
" (W RV TFGAF IV R, FEEREL VX, S, BITEL. 60, UVAYR, B (7L —2A) 5 - _

/5 i VLR, RIS 7L — o, i 0TS 1 26,290 26,290 0.0 15.8
Hoov U v X2 —HV, AT ARERRL 1L 148 147 0.7 -2.6
O B [AWEEEECEE, BARZUBEEYS, 7 AT 7 VNS, /N B B 1A 8,500 8,500 0.0 -8.3

= e 7T LE, 32V M L7 UHNN T a—F — 25N, A E Val ks S L, LEDASYy 77 AR A ) }
F L E B 5 PR X < 1% 51,430 49,076 4.8 7.0
fo— = 7Ry ey ey, BRI ZT1100%, (FAX)S~L, Tk 1K 6,921 8,239 -16.0 10.6
e moOB OB OB | 1[5 1,825 1,825 0.0 1.4
w2 B WEREZ (Dob, v=—btr s, vy 7 —, 'ob), B GERELTEERL) 1[a] 3,975 3,950 0.6 0.6
£ ¥ 27 UV — & |BIyvUZ{bhish, 40gAD 114 5,500 5,500 0.0 1.9

FEDVAZ:8A~10A X 2235 ), ZN A ORFIZT S,
(FE2)4H ~8HIEM@ NATY v (Fah) 1. 98 ~3A XM N &—%— (BEA 75540 | 2 f8#,
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